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1=0.60x4 2.40m
A=0, 60x 0, 60-0. 46 X0, 46 x 1 /4 0.19 m
V=(0. 60 X 0. 60-0. 46 x 0. 46 x 7 /4) x0. 31 0.06 m3
V=(0. 60 0. 60-0. 46 x 0. 46 x 7 /4) x0. 31 0.06 m3
N1 1457
N1 1ot
N1 1R
= (0.60x0.60-0.42 0. 42 x 70/4) x0.11 0.02 m3
A=0, 600, 60-0.28 X0, 28 x /4 0.30 m2
A=0. 60 %0, 60-0. 28 x 0. 28 x /4 0.30 m2
A=0.60 X 0. 60-0. 28 X 0. 28 x /4 0.30 n2
A=0.60x0,60-0. 28 x0. 28 x /4 0.30 2
V=0. 05 x (0. 60 % 0. 60-0. 46 x 0. 46 x 77/4)

. +0.03 % (060 0. 60-0. 28 0. 28X 7 /4) 0.02 m3
ERERILE V=V14V2=0. 003+0. 014 0.017 m3
(ﬁ%g%mmt; V=2. 40/203 x 1.8 0. 85 0.018 13




